Tabdbauna Kaan

CocraButh Tabuiy Ksmu crpykrypst (X, *), 3aJaHHOM HA MHOMKECTBE TIap Lo =
(0,0), z1 = (0,1), 2o = (1,0), x3 = (1,1). Yka3aHo mpaBUIO JJisI YMHOKEHHUSI

Imap a = (al,a2) ub= (bl,bg).

3agaga Dm3.4.
Lanua
axb= (lag — b, |a; — byl)

Andpees

3amaua Dm3.5. Apabadocues
Lenuc

axb= (lajag — biby|, |az — by)

3amaga Dm3.7.
Manysa Anmonuy
a * b = (|a,1bl — a2b2|, |agbl —
aiby|)

3amgaga Dm3.1. Aseauny 3amaga Dm3.2. Anexcees 3agaga Dm3.3. Anewun

Tabpusa Hounody Lanuun Baaducaas

axb= (alb2,\a2b2—a1\) axb= (agbl,albg) axb= (|a1—62\,a2b1)
3amaya Dm3.6. Homunzyw

Coapew Pparcuwry
axb = (‘agbl — alb2\, ‘CLlCLQ -

bibs|)

Kasumupy

3amaya Dm3.8. Kexama
Cetipu Benoru Anmonuy

axb = (|aiby —bs|, |a1by —aszby])

3amaya Dm3.9. Kaenuxos
Baadumup

axb= (|CL252 - bl|, |albl - b2|)

Baadumup
axb= (Jaibs — as|, lazby — br)

3amauya Dm3.10. Kysue

3amaua Dm3.11. Masyp Hava
Buxmoposuu
axb= (|agbg — 0,1|, |a1b1 - a2|)

3amaua Dm3.12. Mywupuaa
Kepemuaw 2Koay
axb= (laz — 1], |azby — a1])

3agaga Dm3.13.
Hoauna

axb= (|a1 — 1‘()1,@1[)2)

Hewaesa

3agaya Dm3.14.
Mapceauny XKyauy
axb= (|a1 — 1‘()2, CL1b2)

Deprandy

3agaua Dm3.15. Xumenec
Menoduema Xyauo Cacap

axb = (|agby — by|, a1bs)

3amada Dm3.16.
Anacmacus

axb = (|agby—ay|, |aiaz —b1by|)

Xozxpaxosa

3amaya Dm3.17. Yunoicansica
Kose Hopmyaan
a *x b = (|agbg — b1|, |albl — a2|)

3amaua Dm3.18. Illabaruan-
bopyodoicenu Copyus
axb= (|a2 — bl|, |a,1bl - 0,2|)

3amada Dm3.19.
a *x b = (|a1a2 — blbg|, |CL2 — bl|)

Dm3
OTBeThI.
Tabauma Kaian
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